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Quantitative Aptitude for RRB NTPC (Solutions)

S1. Ans.(c)
Sol.

. 33 5
Area of regular hexagon of side a = - a

=
= %az =96v3

=a=8m

Let h be the height of the pyramid.

Then area of one side face of the pyramid = % axd

where £ is the slant height of the face.
:%a)(1‘,’=32v'§=>1‘?=8\f§

2
=3 4 h2 = g2

-2+ h? = 643

— h? =64 X 3[1—ﬂ — 144

=h=12m

- volume of the pyramid
= i ¥ Area of thebase x h
:ix 9613 x 12 =384y3 m?

S2. Ans.(b)
Sol.

Volume of tunnel = nir*h
= 2?_—2 X 2X2%5h6
=704 m®
Volume of the ditch = 48 x 16.5 x 4 = 3168 m?
Part of the ditch filled = — =2
ales 9

Complete Preparation for
S3. Ans.(d) RAILWAY Exams
Sol.

Height of cylindrical rod (h) = 8r R I LW Y
Radius of spherical balls = ; A ‘ \

Number of spherical balls

e EXTREME
T a_ygm3

(z)
_ mXrEwer
- @_mx(z}a Video Courses, Test Series,
— 16 x 3 =48 eBooks
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S4. Ans.(a)

Sol. Radius of pipe (r) = % cm
Radius of cone (R) = 15 cm

Vol. passed by pipe = vol. of cone

mr? X 1000 X T =7 X 15 X 15 X 24

[~ speed of water = 1000 cm/minute]
28800

" 1000

minute = 28 minute 48 sec

S5. Ans.(b)
Sol.

Length of semi-circular sheet = mtr

:%x 14 = 44 cm.

Slant height of the cone = 14 cm.
Circumference of the base of the cone
=2nr= % m

44
=44 = S 1= r=7cm

sh=v142-72
=7V3 em

=7x1.732=12 cm.

S6. Ans.(d)

Sol. Total surface area of prism

= Surface area + (base + top) area

608 = Perimeter of base x height + 2 x base area
608=4xax1b+2xaxa

608 = 60a + 2a°

a?+30a=304
a(a+30) =304
a=8cm

Volume of prism = Base area x Height
=8x8x1b
=960 cm’®

S7. Ans.(b)
Sol. AT.Q.
£xbxh=mr’h,

8X11X2=2x4x4Xh,
7

hl = E
hl = 3.5
S8. Ans.(d)

Sol. C.S.A. of storage tank
= C.5.A. of cylinder + C.S.A. of hemisphere

= 2rtrh + 2mr?
=2nrh (h+1)
=2nr (43 +7)
=2X % X 7 x50
=2200 m?®
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S9. Ans. (b)
Sol 6 Months Subscription

Height of solid cylinder = % cm

ATQ KA MAHA PACK

Volume of ball = Volume of cylinder . )
= gmﬂ — rh Test Series, Live Classes,

Video Course, eBooks

Diameter of ball = 14 cm
Radius =7 cm

4 7
=>§><n><7x7><7=n><r2><5

=}72=49X4 oge
—r=7x2=14cm Bilingual

Diameter of the base of the cylinder
=D=2r=2x14=28cm

$10. Ans.(d)
Sol.

Inner radius (r) =8 cm

Outer Radius (R) =8 cm

Area of circular shell = m(R?*-r?)

=m (144 -64)=80n

AT.Q.

Total surface area of cylinder = area of shell
= 2rRy(h + Ry) = 80m

40

1
40

= h, == _—Rl
Ry

40-R?
S11. Ans.(a)
Sol.
C.P.ofcycle=Rs. x
. 90 xx126
~ 840°% 100 100
=xX126=2840x90

_240x90

=X = = Rs.600
126

S12. Ans.(d)

Sol.

2/5 MP = CP

CP:MP=2:5

Markup % =3/2 =100 =150 %

P% = M% - D% - ""l::’ =150-10-15=125%
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S13. Ans.(a)
Sol.

Amount lent at 8% rate of interest= Rs. x
~ Amountlent atg % rate of interest = Rs. (20,000 - x)

~ S — Principal xRatexTime

100 |
xx8x1 | (20,000—x)x2x1

100 100
=800

j— + LT’;"‘ = 800
—=x= ““’5""“ — Rs. 8000
S14. Ans.(b)
Sol.

In 20 litres of mixture,
Alcohol= (20 x 20)100 = 4 litres
Water = 20 - 4 =16 litres
On adding 4 litres of water,
Quantity of water= 16 + 4 = 20 litres
Quantity of mixture = 24 litres
» Required per cent
4

=2 x100=2=162%
3 3

24

$15. Ans.(a)

Sol.

Son:wife=3:1=9:3

Wife : daughter=3:1

~ Son : wife : daughter
=9:3:1

Sum ofratio=9+3+1=13
If total wealth be Rs. %, then
Son's share - daughter’s share

- Rgf 10}1{]{]{] BILINGUAL
= ST L 10,000 a
)
- x =229 _ Rs16250 a’ = @
s VY
S16. Ans.(d) R A - gﬁm
Sol.
Capacity of each container = x litre (let) R R B NTPC 4_ U
In first container, ;
Milk = ? ].itres, Starts Aprll 9, 2020

Water = E litres

2PMto3PM
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In second container,
Milk = = litres,

Water = ? litres

On mixing both,
Quantity of milk = 3: +=

21x+20x 41x 5.
=——— =— litres
28 28
. X 2x
Quantity of water = P
. Tx+8x

. 15x%x,.
= litres = — litres
28 28

» Required ratio
_41x  15x

=—i—=41:15

28 28

S17. Ans.(a)
Sol.

Number arex and y
SX+y=25

x—y =20

On adding,

2x =45

:x=§=22.5

From equation (i),

225 +y=25
=y=25-225=25

» Required ratio=22.5:2.5
=9:1

$18. Ans.(a)
Sol.

Journey on foot = x km
Journey on cycle = (80 - x) km

X B0—x
* — ?’

=x=112—-80=32 km.

2 1a

$19. Ans.(b)

Sol.

Total annual expenditure of the family
=Rs. (4 x 2570+ 3 x 2490 + 5 x 3030)
=Rs. (10280 + 7470 + 15150)

=Rs. 32900

Total income

=Rs. (32900 + 5320)

Rs. 38220
» Required average monthly
Income = 38220 = RS. 3185
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S20. Ans.(d)

Sol. Increase in ages of five members in 3 years

= (3 x 5) years = 15 years
As average age remains same,
.. Required difference = 15 years

S21. Ans.(d)
Sol.
2 1 _ 5
X+ 3
Multiply byg
1 15
X+ =+

2X 2
5x

6xZ+ 1+ 20x
5x

:2x(3x+i+10)

S22. Ans.(b)
Sol.a+b=10,ab=21
(a-b)*=(a+b)?-4ab
=(10)*-4x21
=100-84=16

$23. Ans.(c)

Sol.

(x-4) (x*+4x + 16)
=x*-P
X*-(4)P=x>-P
P=(4)°=64

S24. Ans.(b)
Sol.

1
4x+—-=5
X
5x

4x2 +10x+ 1
5x

=

A adda
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S25. Ans.(a)

Sol.

1
C+ E = \/§
Cubing both sides

1 1, 1
c3+—+3c><—(c+—):3\/§

(:13 C C
C+5+3(V3) =33
3 1 —
C -I-E =0
S26. Ans.(b)
Sol.

x=222,y=223,z=225
x*+y®+ 23 —3xyz

:%(x+y+2)[(x—y)2+(y—2)2+(z—x)2]
::%(222-r223-rzzs)n—4)2—r(—2)2+(3)ﬂ
=%wﬂnxﬁ+4+ﬂ

670
= TX 14 =670X7
=4690

S27. Ans.(c)
Sol.Ifa+b+c=0
Then,
a®+b®+c®-3abc=0
~a®+b?+c®=3abe

S28. Ans.(d)
Sol.
(xl_.fa + x—lfS](xzﬁ 1+ x—zj?,)
1 2 1 52 X
L SNE D v
=x—x32+x 24+x—x 34+ x
=x+x

1

S29. Ans.(d)

Sol.
1

p

1 1
t—=—
q p+q
p+q 1

Pg  p+gq
(p+a)®=pq
ﬁ+q§+hm=pq
p3+q3+pq:0 2 2
p’-q’=(p-9)(p°+q" +pqg)
(Pp-q)x0
0

=1 2 -1 -1 z
S x3t3 _x34xs a4 xs i —_x3 4x3 3

7 | www.bankersadda.com www.sscadda.com

www.careerpower.in

www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

S30. Ans.(c)
Sol. 12 Month Subscription
Xx=93,y=93,2=94
x? - y%+10xz + 10yz A
=x’-y?*+10z (x +y)

=(x+y) (x-y)+10z (x +y)
=(x+y)[x-y+10z]
=(93+93) [0+ 10 x 94]
=186 x 940
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